N 4123/ Atomizer

y ‘L O o

€
£
M43mm £ 8
C0O2-DT E £ ¥
£ S
) S S
] ‘ <) [ | ot o F w” =
T e < T U S T T
CO2-N-D60 CO2-N-D250 CO2-N-D300 CO2-N-D400 CO2-U
= FERETR HSER B O(RT1%) HEEO
Model Product name Inlet Pressure Inlet nut screw Outlet nut screw Material
C02 URIE L 6*4mm PUSE 6*4mm PUSE )
coz-U €02 Diffuser U tube 6*4mm PU trachea | 6*4mm PU trachea| 304 stainless steel
CO24Btk * , )
C0O2-DT €02 Diffuser Tablet >0.15 Mpa M570.8 M5%0.8 6061 aluminum alloy
CO21E¥ 41 8860mm 6*4mm PUSE , )
CO2-N-D60 | o7 piffuser non-return 60mm >0.15 Mpa 6*4mm PU trachea M570.8 304 stainless steel
CO21E 4R 88250mm 6*4mm PUSE " )
CO2-N-D250 | 03 Diffuser non-return 250mm >0.15 Mpa 6*4mm PU trachea M570.8 304 stainless steel
CO21E¥4A 1 28300mm 6*4mm PUSE
N " )
CO2-N-D300 | ¢ Diffuser non-return 300mm 0-15 Mpa 6*4mm PU trachea M570.8 304 stainless steel
CO2LE¥ 4R 28400mm 015 M 6*4mm PUSE .\ _
CO2-N-D400 | o2 piffuser non-return 400mm 1o Mpa 6*4mm PU trachea M570.8 304 stainless steel

N IBFERS — & hxiaNgs/check valve and CO2 External atomizer

BS FERRETR 8mm
Model Product name
\
CV-S &30 1F3¥iE Single head check valve 15mm »
g g g

CV-D k1% Double head check valve g g 3
CO2-MS ZRHRiQNEEEE CO2 Monitor set
CO2-MF Z &N CO2 Monitoring fluid

N {RIE7=88/Warranty Terms

—. WAEFREMFHRRERFDER, NFRFERENR, JRRERMHE. FREFERIR, FAHITHOMEEERE
WEEIEER A,

= UT AR BRRIEMNT RIS E R BT E:

1 RIZRABREER. BERLE. ROBENRAFS,

2 RERUR BT A S EESERSIEEIRE

3. Rtk E REMAISPERIRIE,

HATFERSXAR, BONMTERERTEESF.

| . The products sold are guaranteed for one year free of charge, that is, within one year, if there is any quality problem of
the products, they can be replaced or repaired for free. A reasonable fee will be charged for maintenance and replacement
of non-quality issues and after warranty overruns.

I . The following product problems not caused by the company are not covered by free maintenance:

1. Not operating according to the manual, voltage mismatch, lack of necessary maintenance, etc;

2. Malfunctions or damages caused by wrong use or improper repair by oneself.

3. Failure or damage caused by other external factors.

4. Failure not caused by our products;Depending on the country or region, some rights may only apply to specific
customers.

N/

<ouy VWEIERKANG

WEEK AQUA
— SRR ERREEH

Aquarium CO, series User Manual

R M7 IN=
HBR/RENABERATE
Zhuhai WEEK Photoelectric Co., Ltd.
® MAEHETENX SR TV RESIEFER29S BRI/ 1
@® 3/F,Building B, No. 29 Jinfeng West Road, Jinding
Industrial Park,Xiangzhou District, Zhuhai City
® +860756-3386506 Sales@weekaqua.com
www.weekaqua.com



AN ZEWhRER/Aquarium CO2 regulators

92mm
BS FERETR HSER
Model Product name Inlet Pressure
BRAER
C02-MV-S Single Meter Valve 0.5Mpa-15Mpa
IR
C02-MV-D Double Meter Valve 0.5Mpa-15Mpa
BRBER- BHER
C02-MV-S-§ Single meter solenoid valve 0.5Mpa-15Mpa
IR E 18- B AR
C02-MV-D-S | poyble meter solenoid valve 0.5Mpa-15Mpa
VANE:S /Installation

itigss

WAREDE
Bubble counter &

Steel Internal
Pressure Gauge

BESRE0
screw thread on
gas cylinder

LR

A

iﬂ%ﬁﬁﬁf Trimme

Cylinder pressure

gauge HRER
Valve Body

FRER 2%

Power adapter Solenoi

1R B N A & B a]
2 FTFFERSLITIBES EFINAN3/4897K
3FEHIERE LRI, RERERIMERE L
4 B3R R SRR IRIE R BRIk
5 BBIRIERERIER
6FTFSHRIRIT (FIFSHRMEIIBILARIARLBHEEEER)
7itiBEEELSE
8 5EB—LE FAECHNENRET
I TFRLMBRIETSE
& C02-MV-S/C02-MV-D ZE&H%3,4,5
& C02-MV-S /C02-MV-D Ignore steps 3,4,5.

Solenoids

o
u
g % I 3 3
3 3
O | v 3 3
>
68mm 62mm 97mm 92mm
HEER B (FT1%) HSED
Outlet Pressure Inlet nut screw Outlet nut screw
0.3Mpa -0.6Mpa G5/8 \W21.8 ,M22 M10*1.0
0.3Mpa -0.6Mpa G5/8 ,\W21.8 ,M22 M10*1.0
0.3Mpa -0.6Mpa G5/8 \W21.8 M22 M10*1.0
0.3Mpa -0.6Mpa G5/8 \W21.8 M22 M10*1.0

/N EFRAHC02-MV-5-S (C02-MV-S , C02-MV-DF & EIFkif)
HBERRAE L EREFSIE

C€02-MV-S-S shown (C02-MV-S, C02-MV-D without

T

solenoid valve)

Solenoid version needs to be energized before

rvalve &

openingthe cylinder

.m‘g R M EB IR L

d Valve

Power Cord

1.Twist the Double meter solenoid valve onto the cylinder and
tighten it by hand

2.0pen the top lid of the single-head bubbler and add 3/4 of the
water

3.Solenoid valve connected to the power cord, Theninstall to the
single head trim valve

4.Solenoid valve connected to power adapter

5.Power adapter energized

6.0pen the cylinder valve (Make sure the single solenoid valve is
energized before opening the cylinder valve)

7.The bubbleris connected to the air hose

8.Just connect the other end of the air hose to your own nebulizing
equipment

9.0pen the trimmer valve to adjust the air volume

O & WRZE 7 28/ CO2 Multi-pass splitter

97mm

C02-1-2
s FERAER
Model Product name
C02-1-2 CO23%iE CO2 Way Splitter-Two
C02-1-3 CO2=3# 1 Turn 3 Air Outlet
C02-1-6 CO27Ki# 1 Turn 6 Air Outlet

wweg/

C02-1-3
BSER
Inlet Pressure
0.3Mpa -0.6Mpa
0.3Mpa -0.6Mpa

0.3Mpa -0.6Mpa

O
©
3
3
CO2-1-6
BESEEO (A1) HSEN
Inlet nut screw Outlet nut screw
M10*1.0 M10*1.0
M10*1.0 M10*1.0
M10*1.0 M10*1.0

7828 51AEiE/ CO2 Bubble Counter And Fine-Tuning Valve

20mm

=

20mm

20mm

o]
38mm ~ ~ ©
. f : 5 :
o = |
© [ i) 3 vt 3
- 3 b :
&Ia W L)
CO2-TV-S CO2-W-IN CO2-BC-S CO2-BC-D CO2-BC-S-W CO2-BC-D-W
BS FEERATR BHEER HSEO (%) HAED
Model Product name Inlet Pressure Inlet nut screw Outlet nut screw
BRI R
C0O2-TV-S Single-head fine-tuning valve 1 Mpa G118 M10"1.0
CO2-W-IN iTEg%HKkiESL Water injection 1 Mpa M18*1.0 M18*1.0
BHas . .
CO2-BC-S Single head bubble counter 1 Mpa M10*1.0 M10%1.0
WEKItEER
CO2-BC-D Double-head bubble counter 1 Mpa M10*1.0 M10*1.0
Btags- KR
CO2-BC-S-W | Single head bubble counter -Water injection 1 Mpa M10*1.0 M10*1.0
TR EER X X
CO2-BC-D-W | poyble-head bubble counter-Water injection 1 Mpa M10%1.0 M10*1.0
N Z&bhkEBHLE/ CO2 Solenoid valve
40mm
3 32mm
£
s S s E P
ﬁ i g
SV-S-BC SV-S SV-D
s FEmRER BHSER BRSO (RTI%E) HSEO
Model Product name Inlet Pressure Inlet nut screw Outlet nut screw
Rt ] . .
CO2-SV-S-BC bu/bble counter solenoid valve 0.3Mpa -0.6Mpa M10*1.0 M10*1.0
A 3K EBFR) . .
CO2-8V-8 Single head solencid valve 0.3Mpa -0.6Mpa M10*1.0 M10*1.0
Ik EBHEIR
CO2-sV-D Double head solenoid valve 0.3Mpa -0.6Mpa M10*1.0 M10*1.0



	页 1
	页 2

